Joooooogoogod
Jdooodoooogo

gb 18odoooboof

HRERE

200600 80 250 10:00 — 12:00

ugogao

o [1]o2]0[3] ooo 04000 3000
laloblolc] oo 1oooooo 4000000000

o UOobObObOOOoOoOobbObOooOoobobod

o pUOobObbObOOOoOobDbObOoOooOobbObbooooboboD
gobobooboooooon



oo A= gooooobobobod

INEINIERSNES
o= O wf=

(1) ADDDOO0OOO0O0O0O

(2) OO0 limA"00000

n—oo



O0o000 f:R" - R"O0000000000O00OO

(1) 00000 R"0O00000000O0OOOODOO
Kerf={xcR"|f(x)=0}

Inf={yeR"|y=f(x) D00 zcR*00000}

(2) OO0 fO fof=f000000R'00000 &0
r=x+xy (x; €Kerf, &, €lmf)

doobooouobbbooooboobogo



s m
() DOz=tanfD - <f< 00000000 tan 200000000

—tan "'z =
dx 2 +1

gooo

(2) tan'20 ¢=000000000000000000



200000 . 3
L @) £0.0)
fla,y) =

gobobooodoooooa

(1) 00000 £(0,000/,(0,00 00000

@ tm M@= F0.0) — 0,00 ~ £,(0,0)]
(z,y)—(0,0) \/m

goood

=0 0O0000b0Oooo




GU0O000000 {a®laeG} 000000000 GOOOODO HOOOO
H={dla} - al|lke€EN, ¢, €G (1<i<k)}0
(1) GOO0a b0000
ab*a™! = (aba™t)?
goono

(2) HO OO00000O00DOOO0OOO

(3) 000 G/HOODDD 20000 220 G/HOOOOOODOOODODODOOOO



a0b000000O0O0ODOOO LO
Lu(t) = u"(t) + au'(t) + bu(t) (ue C*R))
goooog
(1) Lu=00 2000 wyyOu, D000 W(t) = ui(t)uy(t) — uf(t)ue(t) OO OO
W'(t) = —aW(t)

goobooooooo

(2) 000000 Lu=00u(0)=00«(0)=100 0000000 f000

o(t) = / ot — 5)f(5) ds

gooo

gooooooog

(3) DOO0O0O0 '(t)+u(t)=cost 00OODOOOODO



20000 S?={(vy,79,73) ER* |22+ 22 +22=1}00 20000000
RP={R°000000000}
Doooooo
m: 8% = RP? (x1,2,23) — [21, 79, 23]
O [x1,00,23) 00000 (21,20,23) 000 R*OO0OO
OD00D0O0S?ORP20O0O0DOO (U,¢)0(V,y) 0O0DDODO0DO0DOOOO

¢:U={(21,72,03) € S? |21 >0} = B={(ug,up) € R*|ud+ud <1}

¢(1‘1,$2,$3) = (33271173)

VYV ={]r), 29,23 ERP?|2; A0} — R?

w([$17372,513’3]) = (962/9517553/901)
ooooooOond

(1) 0000 (1,1,2)000 RPO000 [1,1,2]000 00000 7 %([1,1,2]) O
nfululn

(2) 00 ¢g:RPP-RO0OODOO (V,0)ODDDO
go My, vg) = vl 4202, (vy,1v5) € R?
000000 gor:S?2—ROOODOOO (U,¢) 000DO
gomo ¢ Huy,up) = h(ui,uz), (uy,us) € B

00000000000 h(uj,u) DOOOO



	inhys06
	inprob06.pdf

